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1 3fader 90T FHT ITANT TE A &
This is NOT a use of a concave mirror:
Ans ) ar=t &
In torches
5 fReg s d
As rear view mirrors
., AT gduT & T 7
As shaving mirrors
, FsomsTE A

' In headlights

v

92 Rw 1w R & g g wE @ Rt & 4|

15, 20, 18, 23, 2, 26, 24

Select the number missing from the given series.

Ans \’ 1. 21
2. 28
3. 24
4. 30
Q.3
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30 fFer 1 7w H A & 73 gl F e e F P suge €

Ne
o.\ ”

Select the option that correctly fits in the blank space in the given figure.

ANe
o.\ "

<
%

4 15,18 30T 24 #T & H. R AT
The LCM of 15, 18 and 24 is:
Ans ,_/1, 360
2.3
3540
4.6
Q.5 afy FHATOT x* + kx + k = 0 & & ¥WAW AR aFAtaw 7 & o k F
AT $H H T 3TEor HEm?

Ifx* + kx + k = 0 has two distinct real solutions, then the value of k will satisfy:

Ans by k < 0 39
k <0 only

5 0<k<4
0<k<4

L k>4 FE
k=4 only

g k<Qork=>4
k<Oork=4

v

Q.6 ‘n’ 3 frde eeTcH Jolish & fAT. n® — 8n? + 20n — 13 T 30T &2
For how many positive integers ‘n’, n* — 8n? + 20n — 13 is a prime?

Ans 1.7

For More details, visit : www.10pointer.com



Q.7

Ans

Q.8

Ans

Q.9

Ans

Q.10

Ans

Q.11

Ans

2.5
3.2
W3

fArafof@a afiofafaat & @ g F e adt & = g2

In which of the following activities is work NOT done?
BE L
Ashwin 1s climbing a bus
| I gls @ &
Ashwin 1s running
. 31feaeT wolehy W @aT §
Ashwin 1s standing on the platform
) 317eqeT °el T &
Ashwin 1s walking

v

T FEA F 32 F 3 F fnfaa frr arar @1 5w v v # 8
ST ST § & IS s FX 7: 5 @ A ¢l A wemst # ¥ 99 Ha
or gefr?

A number was divided in the ratio 3 : 2. When 8 was added to each of the numbers the
ratio changed to 7 : 5. The greater of the two numbers was:

1. 69
v 248

3 42

4. 27
ol sagedi oF 1 aaw, foree uR # e swh S § M §
T oS & A & TR g 4F i e i ey f S & s
forerem &2

The volume of a right circular cone, whose radius of the base is half of its altitude, and the
volume of a hemisphere are equal. The ratio of the radius of the cone to the radius of the
hemisphere is:

Tv2:1

2.8/2:1
vail:1
4.2:1

=T & O #ia O §&TT U A= gE&aT e

Which of the following is a prime number?

1. 889
2. 399
3.1147
v 4 997
AFaT 2017 &, Waeiger #¥aw 3 Tre e &F 300 AFe A Fon ReT &1 wew
a1 f@erdr (@t fr T=m F Tt #) s fr svetey gfte == ¥ e
In how many test matches did Ravichandran Ashwin achieve the feat of becoming the

fastest player in the world (in terms of number of matches) to get 300 wickets in test
cricket in November 20172

1. 56
2. 50

For More details, visit : www.10pointer.com



3. 52
v 454

Q.12 =R ot A8 BFwd Fo 3 Frr it sl Far # s s 82
‘Which of the following elements has a total of 3 shells with 8 electrons in the last orbit?
Ans 1. Al
v 2 Ar
3. P
4.8

U S et 7 Redwwr FY 3 wER svgET REew T
HeTr T F SAGT A B §

Consider the following statement and select the best option.

Gold is more expensive than silver.

Ans
" g

Always
-, el

Never

" HHFAT
Often

" FafT-paly

Sometimes

Q.14 v Fam # 12 3R & A afien & ea @R 16 ar srafE wam F wslh
30 OHE # FoT T 18.1 AT| FSTHAT T AT TR FT AT?

The mean score in a test of the 12 boys in a class was 16 while the overall mean of the 30
students in the class was 18.1. What was the mean score of the girls?

Ans 1.20.5

2.19.8

v'319.5
4.20

Q.15 g Fem Hex fra anfeael & Jqer F serEm R & 112 de # k-
SIAAT (552) #2017 F 6ARG & FuaAH & 3aERor FFar g 91 # 98
afd wnftm &2

The Prime Minister of India unveiled a 112-feet bust of ‘Lord Shiva in an Adiyogi pose’
at the Isha Yoga centre in 2017. In which city is this statue located?

Ans HATATT
1

. Amarnath
IRTOTHET

o>
Varanasi
3. PEREATY
Kedarnath
W 4 a
Coimbatore

Q.16 Hrer 35T 17 (I -17) g &7 2017 Fw gor & smafaa fear mar ar?
‘Which country hosted the FIFA Under 17 (U-17) World Cup in 20172

Ans
For More details, visit : www.10pointer.com



v

India

2 :
England

, St
Brazil

4
Spain

Q.17 Kabaddi

P Q R

] T u

Foothall | V

Cricket

T a1v a7 INW & TR, 57 O H For FE; g S e 3k
Faser At Yo § AT Fearer & Yo

Kabaddi

P Q R

s T u

Football | ¥

Cricket

According to the given Venn diagram, the total number of students who play cricket as
well as Kabaddi but not football is

Ans 4 U
VT

3R

4.\

Q.18 o=@ 4@en # wof REe & TUE W FFIeud 661 & 709 H{|

3,8,13,18,?

In the following series, one number is missing as shown by the question mark (?). Select
the missing number from the given options.

3,8,13,18,?

Ans 1. 22
v 223
324

421

Q19 Rrr & T T W 1 F 20 TF I F AT 3F WA &2

Which of the following is the prime number series from 1 to 20?
ans 43 5 7 11, 13, 17, 19
V22 3,5 7 11, 13, 17, 19
32,5, 7,9, 11, 13, 17, 19
41,2,3,5 7,11, 13, 17, 19

Q.20
For More details, visit : www.10pointer.com



Te BT U T 37T BT a7 HEIAIET §, SHA ¥ U 7 BT S 3t 3 ey
e aTelt vk Qe 3MTpTer reeR fhTel ST &1 A9 = 1 T I A
HT

From a solid cube of side 7cm, a conical cavity of height 7cm and radius 3cm is hollowed
out. Find the volume of remaining solid?

S 300 T HérHET
300 cm?®
272 T HarHET
272 cm?®
270 TT TEHET
270 cm?®
277 Ul AT

277 cm?®

O gt 3,1, 1, 5,2 3T 7 Hr T &
The median of the numbers 3, 1, 1, 5, 2 and 7 is:
Ans of 1.2.5
z3
'3.3.5
4.2

v 4

Q.22 FrEclere & oo 3MFdss A F gt oifther 3 & &9 7 @ sidr 87
‘Which one of the following oxides of Nitrogen is also known as Laughing Gas?

Ans 1. NO,
2. NO
S Ng 05
_’ 4. N20
Q.23 10 e #1 v TAg R AR # 12 R F a@mar #1 6 e, e @
YliE TE WAE & Sl W T WA ¢, 59 dER & 1 R A Gaw R
H FATE?
10 people can build a wall in 12 days. Six people, each only half as efficient as those in
the first group, will be able to complete % of such a wall in:

Ans 25 ﬁ?r
25 days

24 e
24 days

20 fe&=1
20 days
18 Tt
18 days

" &)

Q.24 i O cgaear # o W e & s S ggol T TEAT & Afehed i
ae # T eW wEt 27
Q@A3RI4+6T48402"$WS

How many such letters are there in the below arrangement. each of which is immediately
preceded by a number and NOT immediately followed by a letter?

Q@A3RI4*6T4&402"$WS
Ans

For More details, visit : www.10pointer.com



Two
4.
Four
Q.25 el sMemerR T H WTSF T F UTH FH FAT FHgl AT &

The diameter of the reflecting surface of a spherical mirror is called a/an:

Ans BT

1.
focus
T

2
pole

o
principal axis
o< (aperture)
aperture

4% 4096 FT FEHT FAT §?

The square root of 4096 is:

Ans 1. 74
2. 68

v 3 64
4.56

Q.27 Fpeis % et Feftemor & gaar aoa freafafaa 7 o s S Rmar

The tenth element in the Newland’s periodic classification resembles the:

Ans m
v

Third

v 4

Q.28

For More details, visit : www.10pointer.com



37 T &1 7ae wY S At By & g e @ 98 R @ ¥ A
QRET|

Select the image that will correctly fit in the blank space of the following figure.

Ans

|

v 4

Q.29 e fRrar 3t 30 T 1 T 317 F AT 60 Y §1 TF T g, Rar g whr
3T 1 S 3T off| 6 A &g G T 3 Foreed e

The sum of the present ages of a father and his son is 60 years. Six years ago, father's age
was five times the age of the son. After 6 years, son's age will be:

Ans Laas
21 years

Y 19 I
19 years

- 1599
15 years

42031&

20 years

v

Q.30

For More details, visit : www.10pointer.com



2001-2006 Fr 3™ F g v ¥ oT = e (Pereas Ui &) 32

=T F AG

AdT wem | Rfee | e

2001 |% 1,500 | 200 [T 500 |% 100
2002 | 2,600 (% 300 ([T 600 | 200
2003 |¥ 3,200 |3 150 [T 700 |% 150
2004 |% 4,100 |T 250 |T 650 | 125
2005 | 5,000 (¥ 200 (¥ 800 | 150
2006 | 5,200 |3100 [T 750 (% 175

|rel

The average expenditure per year during the period 2001-2006 is (round off to the
nearest integer).

Items of Expenditure
Salary | Food | Medicine | Tax
2001 | ¥ 1,500 | T 200 | %500 g 100
2002 | ¥ 2,600 | T300 | T 600 < 200
2003 |¥3,200 %150 | %700 150
2004 [T 4,100 | X250 | T 650 125
2005 | ¥ 5,000 | 200 | <800 T 150
2006 | ¥5200|F100| T 750 175

Aus 4, ¥ 2032
2.3 2,034

3.3 2,035

v 4T 1,017

Year

Q.31 @refr & v % F T 825 AT T o 8% e @R swer T arer fRar
or| I @ 3F F 5 T d% 4@ @A § o 7@ 5@ R haen @ 3T
Ff:

Saathi deposited ¥ 825 in a bank that promised 8% simple interest per annum. If Saathi
kept the money with the bank for 5 years, she will earn an interest of :

Ans  of 1. T 330
2.3290
33480
4.¥280

Q.32 gfg AB gdur # ar T a1 o fawedt & & wead ©fF (Problem figure) &t
e gUor ofy Sl o g

E
s

From the given four figures choose the correct mirror image for the problem figure when
the mirror is on AB line.

|

B

Problem Figure

Answer Figures

A

Problem Figure

Answer Figures

anyd

Ans 1. D
v2C

3 A

For More details, visit : www.10pointer.com
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Q.33 3 Fi7 @ et § B 9@ 19 gern S ¥ A wE A 29 g 82

. . . 1.2
‘What is the fraction which, when taken away from » gives 22

Ans 1 1
B
1
o —-
. 3
1
3. —
k]
1
4. =
6

QY FRRTRA R IRTTR FRTITaF FaFT o @) 75
gaaeme ¥ ()1

W FT A # wEw Heor A gra e §2

aﬂr1:3ﬂa;raﬁa§3®mwﬁaﬁ§mﬁaar%aﬁwﬁﬂsﬁgwsaﬁﬁ
T @ T F AT &

& 2: EFE, G, TRER, ST a1, 30T g 3R =t A wehr A g
Read the given question and decide which of the following arguments is (are) strong.

Question: Are the best things in life free?

Argument 1: Life gives us so many opportunities for free and yet most of us waste it.

Argument 2: Smile, friends, family, good talk, good sleep and happy memories are all
free.

Ans 1113ﬁ12aﬁmmnﬁr%‘|

Both arguments 1 and 2 are strong.
|, A T 2 TR 2

Only argument 2 is strong.
, e T 1 FEIERI ¢

Only argument 1 is strong.
1 3R 2 @t geraemeh 7

Neither argument 1 nor 2 is strong.

O3 iy Ry T R o Ry Pger ¥ 2

How many triangles are present in the below figure?

Ans 119
V217

For More details, visit : www.10pointer.com



518
4.16

Q.36 HIcHRUTCHS AT ‘HT Ay THY: WA g THFCH T & HINEY 36 TR &
AR BT 8?2

Who is the author of the autobiographical work ‘On My Terms: From the Grassroots to
the Corridors of Power’?

Ans el e e
Lalu Prasad Yadav

AaAET i
Manmohan Singh
VAR
Sharad Pawar
HAT g

Amit Shah
Q.37 HITATF HHA & e ¢

are the carriers of heredity material.
Ans L EPaCo)
!

Gametes
SH T
Germ cells
-, HgERIR

Genetics

S

Genes

v 4

Q.38 forelr Taega =res & fad off Fiw Fova & & oA & A&y 1 WEs A
garfad faar Sirar & af $E 3cqed Hie fhder gem?

If two Coulomb of charge flows through any cross-section of a conductor in one second,

what will be the current flowing through it?

Ane  wriRR

2
1
: Ampere
1 iR
1 Ampere
b ordng
4
1
T Ampere
v 2 TFIRR
2 Amperes
0% e F AT AT &
A school always has a:

Ans JTATE AT

i
Headmaster
For More details, visit : www.10pointer.com



" )
Teacher

qEIRTAT

2
3

| Library
Heel
4
Building

Q.40 == x% + ax + b W TRE x + 3 ¥ FFenfom Far s ar 9w 22 wreg g@ar
g A T 2% + bx + a 5 x- 3 W faenfoT fFar Srar § O AW 24 wrew
g ¥la + b FT AT T E?

Ifx* + ax + b, when divided by x — 3, leaves a remainder of 22 and x> + bx + a,
when divided by x - 3, leaves a remainder of 24, thena + b=7?

Ans =93
T
v 7

4. 23

Q41 TLATU] FEAT A T dcd T & HIFATSS 3cdedd BT |
An element with an atomic number of will form a basic oxide.

Ans 1.17
2. 6
g7

v 420

Q42 forg s TN F a¥ 2017 # HETaF FNFABE TESR S ¢7
‘Which Indian Chief Minister won the 2017 Outlook Speakout Award?

Anz EIGIE FAR
11

Nitish Kumar
v ECIGIRCGIEED
Y 3
Naveen Patnaik
| T it
Mamata Banerjee
, &% HEAdH
Devendra Fadnavis

Q.43 Ify afFw e &, T FA &, FoiF o7 § AT o oy § o v o afeT
# e e
A box is termed as eraser, an eraser is termed as pen, a pen is termed as stick, and a stick
is termed as plant. Then in the exam a student will write with

Ans _ r_ﬁﬂ.r
1,
plant
' sholdH
pen

EX)

stick
ECE]

4.
Craser

Q.44

For More details, visit : www.10pointer.com



& Tl & Yolelel &I IET I ¢

The reproductive parts of a flower are:

Ans geher 3R wrded
v

Stamens and carpels

meaﬂm

. Calyx and corolla

, Pfad 3R Friew
Calyx and carpels
Corolla and stamens
Q.45 veet fEst & TUTT W I AT WET 3l AHTHA (Answer figure) HT Tet|

Problems Figures

A B c D

Answer Figures

1]
L]

1 2 3 4
Choose the correct figure which will replace the question mark.

[

Problems Figures

t?

A B C D

Answer Figures

X (1] LN
L] ]
1 2 3 4
Ans li 4
22
V33
41
Q.46 FirfereT & e &7 311 AT & ST & T 38 AT o, ST ST AT H1 3 57
AT 36 T off, 5T 38 TR TV BIE 1S T e AT AT| 33 AAI-a BT A &
T AR T

Monika's father was 38 years of age when she was born while her mother was 36 years old
when her brother four years younger to her was born. What is the difference between the
ages of her parents?

e 3w
3 years
6 Y
2.

6 years
, 439

4 years

v

For More details, visit : www.10pointer.com



423&

2 years

Q47 57 BT & wI HY S e TEg @ wefoT adt 2

Z2NGE

A B C D
Select the figure that does NOT belong in the following group.

YN/ [=
A B C D
Ans 1.D
v2C
3 A
“B
Q.48 AT of TF Feutad U, forae geaAe AR e A A & 3 & e
¥ 19 et & Tag W IHCArHYUT & FROT @R/OT ¢ €, A 3 I§ W
TRCATHIUT & FROT @07 fehetell gm :

Consider a hypothetical planet whose mass and radius are both half that of Earth. If g is
the acceleration due to gravity on the surface of Earth, the acceleration due to gravity on
the planet will be:

Ans f1.2g
o g/4
3.4
. g/2

Q49 93 #r 3R 7@ A gU, X, 150° fRomad 3k 105° I g@ar 71 X I
mmn#mgwmﬁgv@%?

Facing East, X turns 150° clockwise and 105° anti-clockwise. Which direction is X facing
now?

A e &
North-West
IR A
North-East
, SfEoraiRem &
South-West
 afEorgd #

South-East

v

Q.50

For More details, visit : www.10pointer.com



AR AR IR R A AT F R vt &
T w7 ¥ #i9 ¥ oy Qe o1 I 2

YA
Tl 9gg Iy &1 welr el Agadr §

forsa:
1: Tl AgAS afFad FHH=mr gl
2: @l 9gs AgAar £

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All carpenters are workers. All workers are hardworking.

Conclusions:
1: All the hardworking people are workers.
2: All the carpenters are hardworking.

e e faed 2 JeEtor FY B

| Only conclusion 2 follows.

X frd 1 3k 2 A= srgETr F E
Both conclusions 1 and 2 follow.

3.;rr-fr 1 3R & 2 HFEOT HL gl

v

Neither conclusion 1 nor 2 follows.

Fael sy 1 FFET HIT g
4
Only conclusion 1 follows.

Q.51

RegoyH iR aas s~ 2l

The SI unit of electric current is:

e areT

1.
volt

L ==FFy

2.
milliampere

TFRY

ampere

ATSHITFIIT

microampere

v 3

4

Q.52 7 F T TEG 13% e WX T &7l A% FEe 50 T 49 HfUw 7 v
BT 3/ 22% & ATH G gaT| 30% F ATH 9 F v awg #
HET FAT g AMRT?

Yayati sold an item at a loss of 13%. If he had sold it for ¥ 49 more, he would have made
a profit of 22%. What should be the selling price of the item to gain a profit of 30%?

Ans o 1.%182
2.¥192.30
33190
4.T187.75
Q.53 Prafafee & ¥ Rree 2T 59 T & AT WY F & e &
fore fmar sar 872

‘Which of the following is used in making perfumes as well as flavouring agents?
For More details, visit : www.10pointer.com



Mo

1.
Methanol

) sAAISH IFA
Ethanoic acid
| -

Ethanol

W4

Esters

3

Q.54 we el 37 36y foar & o @ § 5w T # 4.8 e sy g ailv 6
foreliaieT 9fay o & o1fy @ aF cafda o @ &1 e 37 wAw 4.5 ¥es 3
9 Wehs #F ST FF IR HT o g1 T d7 Fr e fhaer 27

A mini-van crosses two people walking at the speed of 4.8 kmv/h and 6 km/h in the same
direction as that in which the mini-van is heading in 4.5 s and 9 s, respectively. What is
the length of the mini-van?

Ans _1.4m
4m
-2_3.5911?{
3.5m
L, 2 AT
2m
| 3 e

im

4% faw a1 g @ Rww ampfa gfaw

%XX%

B C D
Select the figure which does NOT belong to the group.

s

Ans 1. B
VA
3D
4. C

v

Q.56 3T@er AT Thelihr Rt TRuE (THE WA S) F TIAT 3T Fia &2
Who is the current chairman of the All India Council for Technical Education (AICTE)?

Ans ASTHT FITeo

1,
Najma Heptulla

Srikant Datar

2} =2

Anil Sahasrabudhe

v

For More details, visit : www.10pointer.com



4 ﬁEIE'
Pritam Singh

ast H g AT 7 e, WIS 91T ST &
The has abundant white fibres.

Ans =g

1 =
ligament

31T

2!
cartilage
v 3 ) T3]
tendon

EE]

4.
bone

Q58 37 R &1 997w S A e AT FEg ¥ @9 @ 8

Al

A B C D
Select the figure that does NOT belong in the following group.

A=l
A B C D
Ans 1. B

2.D
3 A
vaC

Q.59 mg=dt # s B o & @ qam, o 3R 3o & g8 gEn ol
forar ST §

Involuntary actions in human beings such as blood pressure, salivation and vomiting are
controlled by the:

Ans cﬁm

1
Pons

HERIDErae:)

2
Hypothalamus

| TS FE
Spinal cord

Hsgemw
4 =

Medulla

Q.60 sy # Sfrewdr (g 3R T =) 2017 & FA @ 7 F a0 v 2
India implemented the GST (Goods and Service Tax) from which month of 2017?

Ans m,:(l.

1.
March

For More details, visit : www.10pointer.com



2 o
September

AT

3.
January

oS

July

W 4

Q.61

Sales of Bikes in India as per the Colourin
2009

25%

-

15% 12%

- P 10% - | | 10%

% 5% I

I I I = 11

Blue Green Golden Brown Black silver White Red VYellow
2009 # R # TT F HJER amsent 1 fashr-
Blue- e
Green- g0
Golden- gl
Brown- &1
Black- shrelr
Silver- T&d
White- Tihe
Red- @t
Yellow- drer
afg a¥ 2009 #F ¥ T aEFH Hr For HEAT 50,000 &, A fef wF A
arsew F hr & goen J wihe asF & R H T e w9 0
Sales of Bikes in India as per the Colourin
2009

25%

25% =
- 10% 10%
0% 8% 7

5%
% I 3% I
n

Blue Green Golden Brown Black silver White Red Yellow

If the total number of bikes sold in 2009 was 50000, then by what number was the sales of
white bikes less than that of yellow and red bikes put together?

Ang 1.5,000
v 2.2 500
'3.3,000
14.10,000

Q.62 Prafaf@a gadedt @ s 3R & 718 A= § 98 a9 &Y & #iT ¥ Sy
FEFcedl F THEINT T T T (AT §) T ¢

aFA:
1. 3 A T £l
2. @it qeash FiEar 8

e

1. $O % A 8

2. 7o FEAT g&F §
Consider the given statements true and decide which of the given conclusions logically
follow(s) from the statements.

Statements:
1. Some tables are books.
2. All books are chairs.
Conclusions:

1. Some books are tables.
2. Some chairs are books.

For More details, visit : www.10pointer.com



Ans

1 3R 2 g ST A E
Both conclusions 1 and 2 follow.

1 3R 2 gt SFER0T S AR
Neither conclusion 1 nor 2 follows.

el fAsHy 2 3T T B
Only conclusion 2 follows.

, e AR 1 3FEROT HIT E

Only conclusion 1 follows.

v

Q.Gaﬁﬁaaﬁrmwmmm'mﬁ?mmﬁmm@m

Ans

g HifdAET Tafa foFar ¥, 1 s fohaer fomam &2

‘Who designed the world’s lightest satellite ‘Kalamsat’, which NASA launched and set a
new world record?

Ry o
Rifath Sharook

| QT IS
Shawna Pandya

s e
Riyaz Sharook

, HTEE SR
Madhav Dhekane

v

Q.64 Fum F & 7 FFFY ¥ 3T rFT F TS FT A THET T T IO

Ans

= e

YA
A F AGA F F5 I g TEE FAH H T §, N EEe & T
gt &1
sy
1. ST & AtgH & et @ JE e SR
2. qFEed @ F99 F fIT WEHR G@nr e gl a3 S e

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements:
During the rainy season many train accidents occur in hilly regions due to landslides.

Conclusions:
1. Trains should not run during the rainy season.
2. More precautions should be taken by the government to avoid landslides.

el TSy 2 HTEROT FAT &
Only conclusion 2 follows

| e Ry 1 JegeoT e §

| Only conclusion 1 follows

. frpd 1 3K 2 @1 sgEvT w &
Both 1 and 2 follow

Y &)

For More details, visit : www.10pointer.com



T 1A 2 HeEROT e 7
Neither 1 nor 2 follows
% T Y g -
2550 — [510 — {270 — (90 —80 + 70)}]
Solve the following.

2550 — [510 — {270 — (90 —80 + 70)}]

Ans 12210
12,2240
'8 2220
W 4 2230
Q.66 geefordl g@RT I 1662 F $T0Is F TS AW I H TN & T H Toel &

T A A W EaeT & & F FH AdT 98T # 39K T=RT f&ar a/ar an

‘Which Indian city was gifted by the Portuguese as dowry to Charles II, the King of
England, when he got married to the sister of the King of Portugal in 1662?

Ans
1_?l’raT
Goa

EiCES
Mumbai
aHod

9
Daman

HreteT

4.
Cochin

W2

Q.67 2 1w 3R WHEH & TS oA & HUR W FFIEAS TG F qIT HL

BFK : IMR :: DGP :

Select the missing term based on the given related pair of letter clusters.

BFK:IMR:DGP:
Ans o 1 KNW

2. KNZ

3. WNK

4. KWN

Q.68 AT @ # & Sidr faeT Fr o WY 9= & et 7§ T T &7
Which of the following is one of the saltiest lakes in the world?

Ans Hd HFT
v &
Dead Sea

2 I
Caspian Sea

5 olTel HIFY
Red Sea

" el HF

" Aral Sea o _
For More details, visit : www.10pointer.com



Q.69 forelr gl o # WY @S & &5 § 3t F= g g i s
HHET B & FROT EA e H W F g &

A compressed spring possesses more energy than a spring of normal length because the
compressed spring has:

Ans
{mﬁiﬂ?ﬁrﬁ‘f

potential energy
| et St
kinetic energy
| TEfaed S
chemical energy
, T B
heat energy

Q.70 #ifrw & v Feitar T 160 7 wier ik 5@ T 180 & a7 2w gfaea & «my
% TETl :
Kaushik bought a toy for ¥ 160 and sold it for T 180. The rate of profit was

ik 1.17.5
v 2125
3.156.25
416

%

Q.71 e Tcd T A SR W 3R SRATY] HEAT N §1 58 AT & g H Fieie S FEar
Toraretr gref

An element has an atomic weight of W and an atomic number of N. The number of
protons in the nucleus of its atom is:

Ans 1. W-—-N
2. W
v 3N

4 W+N

72 @Y FT FHF (NaCl) TFaw &= 2T 82
Common salt (NaCl) is made up of:

T Aegd 3Fd HR T A &R

Ans

v
a strong acid and a strong base

T FAGR IFA AR TF A &R

a weak acid and a strong base

THh FAAN IFT AR T FAAT &1

a weak acid and a weak base
TH Agd 3F AN TF FAAR &

a strong acid and a weak base

U7 AT T T pHEAT BT &
The human body works within the pH range of:

Ans
v 79 7.8

7.0t0 7.8
For More details, visit : www.10pointer.com



-, T0W86
7.0t0 8.6
., 6.0¥7.0
6.0t0 7.0
., 6.0T68
6.0t0 6.8
Q.74 fzr 7w g% | TR = 3R 97 F F & 7 Aant & @ s @ @R
g @
T
Tl Rt F Gag 9.00 ar TR FroeT Tga F AT R@w Fwr

o

AT

1. o Rt FAT | a4 I3
2. et gaar-a # fow weh el @1 e S

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
All the faculty members are instructed to reach the college by 9.00 A.M.

Assumptions:

1. Some faculty members do not come on time.
2. Faculty members will follow all the instructions in the notice.

Ans 1 Fao AT 2 Afga g
Only assumption 2 implicit.
1 3R 2 =t fafea =@t 8
Neither 1 nor 2 is implicit.

1 3R 2 2=t faRa &
Both 1 and 2 are implicit.
, e A 1 ffea g

| Only assumption 1 implicit.

v

Q.75 weF dig, IO HT 3R FHr AT §, IF 80 HEX H FUE IF IW A § AR
Hoel Hor foufy & e s & 1 ofe & 7 ¥ & g sue Rwuw &
Liresiu @RI | (AT o g=10 Hiex 9fy T Wavg)

A ball, thrown vertically upward, rises to a height of 80 m and returns to its original
position. The magnitude of its displacement after 7 s of motion will be . (take g=10
m/s?)

Ans 1 45;-“3?
45m

, 125 7T
125 m

, 25 HT
25m

, AR
35m

-

For More details, visit : www.10pointer.com
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